

St. Louis County, Minnesota



Date of Report: 5/5/2025 4:58:05 AM

Parcel ID:			General Det	ails					
	300-0010-0	4880							
Document:	Abstract - 0	1449082							
Document Date	e: 07/26/2022								
		Leg	gal Description	n Details					
Plat Name:	COLVIN								
Sec	ction	Township	Ra	nge	Lo	t	Block		
2	29	56		15	-		-		
Description:	SE1/4 OF \$	SE1/4 OF SE1/4 EX W 600 FT							
			Taxpayer De	tails					
axpayer Name	e WALDEN S	TIRLING T							
nd Address:	5503 LONG	LAKE RD							
	MAKINEN	1N 55763							
			Owner Deta	ils					
Owner Name	WALDEN S								
		Paya	able 2025 Tax	Summary					
	2025 - 1	let Tax			\$2,103.0	\$2,103.00			
	2025 - 3	Special Assessme	sessments \$85.00						
	2025	Total Tax &	Special Asses	sments	\$2,188.0	\$2,188.00			
		Curren	nt Tax Due (as	of 5/4/2025)					
	Due May 15		Due Octobe	er 15		Total Due			
2025 - 1st Half Tax \$1,094.00		00 2025 - 2r	nd Half Tax	\$1,09	4.00 2025 -	1st Half Tax Due	\$0.00		
2025 - 1st Ha	lf Tax Paid \$1,094.	00 2025 - 2r	2025 - 2nd Half Tax Paid		4.00 2025 -	2025 - 2nd Half Tax Due			
2025 - 1st Ha	alf Due \$0.	2025 - 21	- 2nd Half Due \$0.00		2025 -	Total Due	\$0.00		
2020 10110	411 Duc 40.	2020 21	Parcel Deta		2020		\$0.00		
Ducu cuto A deluc	5502 L ONG								
		LAKE RD, MAKII							
School District	:: 2711	LAKE RD, MAKII							
School District	:: 2711 District: -								
School District	:: 2711 District: -	ONNIE	NEN MN		026)				
Property Addre School District Fax Increment Property/Home Class Code	t: 2711 District: - esteader: WALDEN, E Homestead	ONNIE Assessme Land	NEN MN nt Details (202 Bldg	5 Payable 2 Total	Def Land	Def Bidg	Net Tax		
School District Tax Increment Property/Home	t: 2711 District: - esteader: WALDEN, E Homestead Status 1 - Owner Homestead	ONNIE Assessme	NEN MN nt Details (202	5 Payable 2		Def Bldg EMV \$0	Net Tax Capacity -		
School District Tax Increment Property/Home Class Code (Legend)	t: 2711 District: - esteader: WALDEN, E Homestead Status	ONNIE Assessme Land EMV	NEN MN nt Details (202 Bldg EMV	5 Payable 2 Total EMV	Def Land EMV	EMV			



St. Louis County, Minnesota



			Land D	etails						
Deeded Acres:	21.81									
Waterfront:	-									
Water Front Feet:	0.00									
Water Code & Desc:	W - DRILLED WE									
Gas Code & Desc:	-									
Sewer Code & Desc:	S - ON-SITE SAN	ITARY SYST	FM							
Lot Width:	0.00									
Lot Depth:	0.00									
The dimensions shown are n		rvev quality	Additional lot	information can be	e found at					
https://apps.stlouiscountymn	.gov/webPlatslframe/fr	mPlatStatPop	Up.aspx. If t	here are any quest	ions, please email Property	Tax@stlouiscountymn.gov.				
		Impro	vement 1	Details (Res)						
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
HOUSE	1976	1,1	37	1,423	U Quality / 0 Ft ²	1S+ - 1+ STORY				
Segment	Story	Width	Length	Area	Founda	tion				
BAS	1	0	0	565	BASEM	ENT				
BAS	1.5	22	26	572	BASEM	ENT				
DK	0	6	9	54	POST ON G	ROUND				
DK	0	6	14	84	CANTILE	VER				
DK	0	8	15	120	POST ON G	ROUND				
Bath Count	Bedroom Cou	Int	Room C	Count	Fireplace Count	HVAC				
1.5 BATHS	2 BEDROOM	S	5 ROOI	MS	1	CENTRAL, GAS				
		Impro	vement 2	Details (Gar)						
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
GARAGE	0	52	20	1,040	_	DETACHED				
Segment	Story	Width	Length		Founda	tion				
LAG	2	20	26	520						
		Impr	ovomont (P Dotails (St)						
Improvement Type	Year Built	Main Flo		B Details (St) Gross Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	Main Fig 38		384	basement rimsn	Style Code & Desc.				
	-				- Founda	tion				
BAS	Story		Length							
DAG	I	1 12 32 384 POST ON GRO		ROUND						
		Impro	ovement 4	Details (Pb)						
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
POLE BUILDING	1997	2,0	16	2,016	-	-				
Segment	Story	Width	Length	Area	Founda	tion				
BAS	BAS 0 36 56 2,016 POST ON GROUND									
Improvement 5 Details (Pb)										
	· · · · · · ·									
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
Improvement Type POLE BUILDING	Year Built 1992	Main Flo		Gross Area Ft ² 1,728	Basement Finish -	Style Code & Desc.				
				1,728	Basement Finish - Founda	- -				







Date of Report: 5/5/2025 4:58:05 AM

		Improvem	ent 6 Detai	s (SEV SHED	S)				
Improvement Type Year Bu		It Main Floor Ft ²		Gross Area Ft ² Baser		ment Finish	S	tyle Cod	e & Desc.
MULTIPLE STOREAGE BUILDINGS	0	70	5	705		-		-	
Segme	nt Story	y Width	Length	Area		Foundation			
BAS	0	0	0	150		POST ON GROUND			
BAS	0	7	8	56		POST ON GROUND			
BAS	0	8	7	56		POST ON GROUND			
BAS	0	11	25	275		POST ON G			
BAS	1	12	14	168		POST ON GROUND			
	LT 0		10	80		POST ON GROUND			
LT	0	11	14	154		POST ON GROUND			
	;	Sales Reported	to the St. L	ouis County	Auditor				
No Sales informa	tion reported.								
		A	ssessment	History					
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV		tal AV	Def Land EMV	De Blo EN	g	Net Tax Capacity
	201	\$45,500	\$209,5	00 \$255	5,000	\$0	\$	0	-
2024 Payable 2025	111	\$10,200	\$0	\$10	,200	\$0	\$	0	-
	Total	\$55,700	\$209,5	00 \$265	5,200	\$0	\$	D	2,416.00
	201	\$38,200	\$139,1	00 \$177	7,300	\$0	\$	0	-
2023 Payable 2024	111	\$8,200	\$0	\$8,	200	\$0	\$0	0	-
,	Total	\$46,400	\$139,1	00 \$185	5,500	\$0	\$(D	1,642.00
2022 Payable 2023	201	\$38,200	\$126,8	00 \$165	5,000	\$0	\$	0	-
	111	\$8,200	\$0	\$8,	200	\$0	\$(0	-
	Total	\$46,400	\$126,8	00 \$173	3,200	\$0	\$	D	1,508.00
2021 Payable 2022	201	\$33,200	\$105,5	00 \$138	3,700	\$0	\$	0	-
	111	\$6,800	\$0	\$6,	800	\$0	\$	D	-
	Total	\$40,000	\$105,5	00 \$145	5,500	\$0	\$(D	1,207.00
		٦	ax Detail H	listory					
Tax Year	Tax	Special Assessments	Total Tax Special Assessme		Land MV	Taxable Build MV	ding	Total Ta	axable MV
2024	\$1,563.00	\$85.00	\$1,648.0	0 \$41	,814	\$122,403		\$164,217	
2023	\$1,557.00	\$85.00	\$1,642.0	0 \$41	,216	\$109,594		\$150,810	
2022	\$1,409.00	\$85.00	\$1,494.0	0 \$34	,074	\$86,669		\$12	20,743







Date of Report: 5/5/2025 4:58:05 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.